| JTLEUCLT

KP0800 - Cepillo 82mm 620W




KP0800 - Cepillo 82mm 620W

I’H!'l !!!'l

Pl Rl

Posicién

© 00 N o g b W N P

A A A D B B D DA D WOWW W WW W WWN DN DN DN N DNDDNDNDNDNDDN PR REP PP P P P P P PR
o N O o A W N P O © 0O N OO B~ WDN P O © 0N O 00 B~ WN P O ©W 0o N o o0~ wN B+ O

Coédigo de
la pieza

266326-2
451314-4
682502-4
665394-6
266326-2
687052-4
867138-2
654532-5
645190-8
650236-7
140197-4
451328-3
961004-6
264028-4
451324-1
232185-6
346110-2
911128-8
451329-1
643550-8
191940-4
231004-3
421007-7
319010-9
319009-4
231698-4
451392-4
266326-2
593718-5
451327-5
266052-3
681652-2
210017-7
515793-1
211088-7
140201-9
266326-2
222163-4
225007-7
451326-7
911128-8
222164-2
211088-7
161061-6
211032-4
A-82921

343433-9

Name

TORNILLO M4X18

ASA KP0800

SALIDA DE CABLE 8-85 (320800)
POWER SUPPLY CORD 1.0-2-2.5
TORNILLO M4X18

PRESILLA

KP0800 NAME PLATE
CONECTOR 6E/1DS
CONDENSADOR PARA MT952
INTERRUPTOR KP0800
ARMAZON PRINCIPAL KP0800
POMO KP0800

GRUPILLA S-8*

TUECA HEXAGONAL M10 KP0800
PIEZA APRIETE POMO KP0800
MUELLE BALLESTA

LEVA KP0800

TORNILLO M4X16*

Salida de aspiracion

TAPON DE ESCOBILLAS 5-8*
ESCOBILLAS CB-411
MUELLE-EXPANSION 18 1100
AMORTIGUADOR BASE 1923B
FRONT BASE

BASE

MUELLE TORSION KP0810

PIE KP0800

TORNILLO M4X18

STATOR KP0800

DEFLECTOR KP0800
TORNILLO M4X60

ARANDELA AISLANTE JR180D

RODAMIENTO BOLAS 607DDW/420S

INDUCIDO KP0800

RODAM. BOLAS 6000DDW PC5001C

TAPA SOPORTE KP0800
TORNILLO M4X18

POLEA KP0800

CORREA TRANSMISION 4-241
TAPA CORREAS KP0800
TORNILLO M4X16*

POLEA KP0800

RODAM. BOLAS 6000DDW PC5001C

TAMBOR PARA 1902
RODAMIENTO PARA 60827
JUEGO CUCHILLAS MT191

Placa para minicuchillas 82mm




KP0800 - Cepillo 82mm 620W

lf:!f!;!!!:l

49 345644-2 GUIA CUCHILLA 1100/1923
50 265132-2 TORNILLO 4X5 KP0800
51 187679-5 DRUM PLATE SET

52 251609-3 TORNILLO M6X17*




